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A “systematic step-by-step procedure which follows logical process of reasoning” is

Experiment method

Observation method
Deduction method

Scientific method
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A SRSWOR of size n is selected from a population of size N. The probability that a
particular unit is selected at the fourth draw is
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Fundamental Research is also known as
Action Research

Survey
Pilot study

Pure Research
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92862726172.
The research related to abstract ideas or concepts is known as
Empirical research
Conceptual research
Quantitative research

Qualitative research
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Research based on experiment and observation is called

Clinical Research

Experimental Research
Laboratory Research

Empirical Research
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A population of 1000 units is divided into three strata of sizes 200, 300 and 500 units. T
standard deviations of these strata are known to be 2, 4 and 6 respectively. If a sample
size 60 is to be chosen using Neyman allocation, the sizes of samples from each stratt
are respectively

20, 20, 20

9, 15, 40
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5, 16, 39
92862726183.

10, 20, 30

1000 THTEAT &t UF THIL Fr 200 H2AT, 300 THIZAT AT 500 SHIEAT

et o1 T § TAarisrg &dT STar 8 | 59 &0 & q16 (a=Fed HF9T: 2
T 6 T 2 | ATF 60 AHTT &7 ATa 29l 987 MaaH 0T AT S14T ¢, 1 T2

AT H HHT: A9 AHT g0

20,20, 20

9, 15, 40

9, 16, 39

10, 20, 30
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Question Number : 7 Question Id : 9286276734 Question Type : MCQ Option Shuffling : Yes Is Question N
Correct Marks : 1 Wrong Marks : 0

Peter hits a target with probability 0.8 and Paul hits the same target with probability 0.7
they aim at the target, what is the probability that neither will hit it ?

0.05
0.2
0.15

0.6

UTe feT T9rm =T ITa=aT 0.8 & AT 9=q7 g TIT Tier It e =1
ITTAHAT 0.75 = AT AT g | TTS AT 9T 1 95 o g, a1 T
= GIAT 7 924 6T AT AT FEiT ?

0.05
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0.15

0.6

A comprehensive full report of the research process is called

Thesis

Summary report

Abstract

Article
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Options :

M-I
92862726189,

T T (RdTe)

-

The report submitted when there is a time lag between data collection and presentatior
result is called

Thesis

Interim report

Summary report

Article
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Question Number : 9 Question Id : 9286276736 Question Type : MCQ Option Shuffling : Yes Is Question N
Correct Marks : 1 Wrong Marks : 0
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Bibliography means

Footnote

Quotations
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List of referred books, research papers, etc
92862726199,

Biography

ETRT, TI-T3T, TATIS =l AT

STrert

If the other researcher’'s material is used without acknowledgement, it is called
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92862726201.
Footnote
Index
Plagiarism
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Question Number : 12 Question Id : 9286276739 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

If we select sample units in just a “hit and miss” fashion, this method of sampling is cal
Convenience or Accidental sampling
Purposive sampling
Stratified sampling

Proportionate sampling

A% T wTaser THreal & “die-qF [&fe” & 74, 91 7g Ia=a &t
TRl g
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S IEGIIGERT
The following data is of the type.
il Aw.-?rage Te mper.ature
during summer (in °C)
Delhi 40
Kolkata 39
Mumbai 39
Chennai 34
Indore 38

Spatial
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92862726210.

Industrial

Time series
FafiaT AiFe FTIFT T

T & 9TeT 9r9H9T=
T X
(°C #)

ot 40
EACEX 39
L ER 35
ERES 34
LR 38

NG ED
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For the following data
27,28, 26, 30, 32, 34, 36, 29, 40, 38, 38, 38, 38, 2000

which one of the measures of central tendency would be the most useful ?

Mean
Mode
Median

Harmonic Mean
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Question Number : 14 Question Id : 9286276741 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

et et % oo
27,28, 26, 30, 32, 34, 36, 29, 40, 38, 38, 38, 38, 2000

et & & F9-97 F3g T FT 77T T8 STTRET gRIT 2

HIZT

ZITEHF ATET

If the standard deviation of a random variable X is g, then what is the standard deviatic
2 - 3X
4

?
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2 = X =
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92862726219.

The average and variance of the number of accidents at four accident-prone areas A, |
and D based on one month data are given below :

Area A B G D
Mean 10 14 8 16
Variance 25 36 49 64

Which area is more consistent ?

Area A

Area B

Area C
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92862726224. Area D

=T FHeAT W4T &1 A, B, C U5 D § THEAT #l H&AT &1 {7 U 67
U= 219 & AFE! 6 JI T A= =Farmr e

Area/a= A B & D
Mean/|ATeT 10 14 8 16
Variance/99707 25 36 49 64

FIF-AT &3 ST GHART gITT ?
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A population is distributed as N(y, 4). A sample of 100 items has a mean 4-6. The valu
the test statistictotest Hp: p=35is

U= 1Y THTHTT J29 N(y, 4) 5 A9 97 died g | TF 100 A9 F 9§
FT ATET 4-6 T | TUAT Ho - p = 5 F Torm adieqor wia=erst 1 919 grm
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For frequency distribution, a two-parameter (unknown) normal distribution was fitted. T
observed and expected frequencies in the various classes are given below :

Class 1 2 3 4 5 6 7
Observed Frequency 60 | 140 | 190 | 190 160 50 80
Expected Frequency 40 | 150 | 210 | 210 150 | 40 70

To test the goodness of fit using the 2 - statistic, what is/are the degree(s) of freedonr
the 2 - statistic ?

J
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92862726231.

e ATEATAT A & (o1, F1 ATHAT (AFTT) FATAT THTHT FEd AT T
BN ECIER E CRUEGRE R FICEEREIESIE I CE RGN ER IR

el 1 2 3 4 5 6
ATATHRT ATEATAT 60 | 140 | 190 | 190 | 160 | 50
AUTAT AT 40 | 150 210 | 210 | 150 | 40

FTe-a9 TTAZET FT ITANT F2d gU THSA AT (goodness of fit) THaT
TITA o (10 Fle-A9T TTa29isT il TATd5T e F97 gl ?
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It is known that the amount of mustard oil found in a 500 ml bottle is uniformly distribut:
between 490 ml and 510 ml. What is the probability that a randomly selected bottle of
mustard oil contains more than 500 ml of oil ?

0.333
0.667
0.500

1.000
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I8 ST g T 500 fHett e it araer § |74t * 9 it /71 490 AT o1
T 510 AT e § 9979 &9 § §fed g | TF A =aF FA1 T a5 J
F da & AT 500 AAT AT F SATRT Z HiT ATAHAT FAT AT ?

0.333

0.667

0.500

1.000

A distribution formed by all possible sampled values of an arithmetic mean is called

Binomial distribution

Uniform distribution

MNormal distribution
www.FirstRanker.com
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Sampling distribution
92862726240,

AT HTLT & O] AT Tager A1 § 997 97 §29 FHgarar g
2us deq

THTHTT T2

THTHT 2

 IGED LG A

If 10 is the size of the population and 2 is the size of the sample, then the sampling frac
is
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C2

92862726244.

Suppose there are 20 students in a class and 3 students are selected at random witho
replacement. Then all possible samples will be

60
180
1140

1600

HIA A TS 736 eqT | 20 A g AT 3 Al ' =67 Iaedm9 & A3~ 3
= F AT 09T ¢ | 99 T g9t gfaget g
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60
92862726245,

180

1140

1600

A sample is drawn from sequentially numbered trees of a forest using a random startin
point, then draws every 10" tree. He/She has thus drawn a

Simple random sample
Sequential sample
Stratified sample

Systematic sample
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Question Number : 23 Question Id : 9286276750 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

AT =ege ITieds &g 1 TART 7% U SH & ATTH S T § T3
TAT T T FTa39T AT SITAT 2 A< Teds 10771 o7 AT J1av1 2 | T AT
2%

<

qT ATS =g Trasel

ATH AT TTagel
g gfager

sTaterg afagsr

A problem in statistics is given to three students A, B and C whose chances of solving
1 3 1

R and g respectively. If all of them try independently, the probability that the probile
solved, will be
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92862726253.

= AiTedent &7 4T o1 E=tdat A, B v C =1 =237 v g foreht 3=

N . . 1 3 1 .
qua?rammaa?rmﬁw(ﬂw)mﬂ:E,Eaﬂnz%’mﬁ‘%

A B F FAT-AAT IH T T A F2d g, I IH TATA & geA gl oI 2

TP 2rft

29

o L |
[= s
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92862726254.

11
32

Five boys out of 100 and 23 girls out of 1000 are left handed. A person is chosen at
random and found to be a left handed. What is the probability that the person is a male
(Assume that selection of a male and female is equally likely)
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92862726259.

100 5 5 =+ &I 1000 | § 25 AT ATHATAAT (ATHZEq%) & | T =
ATS =g T T AT AT g AT Jg ATHAECET IAT AT g | 98 A<k T30 5
THHT AT TTTAHAT gHIT 2 (AT A TS10 7o T30 U Jigar T F4 71 ST1 TF
2
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92862726260.

A fair coin is tossed 5 times. What is the probability of getting more than four heads ?

15
32

26
32
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= fAeaer AT 5 917 STt Srar g | F1 F SATRT = A i 9T @
2 2

11
32

15
32

26
32

A random sample of 20 units from an infinite population with standard deviation 5 resul
into a total score of 400. Then the sample mean is

25
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92862726266. =

20

1.8

20 SAMHTT (THTLAN) & AT =@ Td29, TH AT G972 5ot am
A= 5 8, | o 77 8, F1 o1 9% 400 2 | 99 Tfa=e arer g

25

S0

20

1.8
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What value of Z would you use to calculate the 95% confidence interval for a populatio
mean, given that you know the population standard deviation, the sample size and the
sample mean of your sample ?

1.96
2.58
0.84

1.28

aqfe gqreT & o 95% fasareaar da<rer &l TR=td Fed & [0 AT Z
T8 |1 T T 40, STaliah T3 197 g & Aroeht /697 /1= fE=a,
TI=eT SATHTT 3T T Tia=el &1 Afa=el ATeT AT g 2

1.96

2.58
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0.84

92862726271.

1.28

Suppose that a random sample of 64 bottles of a particular brand of flavoured milk is
selected and the fat content of each bottle is measured. The sample mean of the fat
content is 8 ml with a population standard deviation of 2 ml. An approximate 99%
confidence interval for the true mean fat content for the population mean of all bottles «
brand under study will be

(7.36, 8.64)
(8.15, 10.25)
(7.59, 9.81)

(7.48, 9.27)
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Correct Marks : 1 Wrong Marks : 0
AT Ao T qATE 320 it et [=Trg st #7164 Tl w1 Ag~aF
STer=eT FAT ST ¢ 3% W= arae § J97 &l JIAT JHil J797 a7 g | 7497 2
AT &7 Wid=er qre7 8 et ofiew g 37 992 7 A= 2 et e
Fexae T & 7g wre i ady et Ft g qrer 39r 7 9w F 99+
= T e 99% FEraTEaar da<re 2

(7.36, 8.64)

(8.15, 10.25)

(7.59, 9.81)

(7.48,9.27)

Which one of the following p-values will lead us to reject the null hypothesis if the level
significance of the testis 1% ?
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0.10
0.01

0.20

1RaferiEs p-amt § T s Fwreor [t afvemeaar st g 2
STAT 2 T3 TEIA0 FT a1 & 1% 8 ?

0.05
0.10
0.01

0.20
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Question Number : 31 Question Id : 9286276758 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

A test of hypothesis is conducted to test whether the mean age (in years) of clients at
certain gym is equal to 25 or not. It is known that the population standard deviation of
clients at the gym is 8. Thirty-six clients are randomly selected, and their ages are recc

with the sample mean age being 23.5 years. What is the value of the test
statistic ?

Z=0.1875
t=0.1875
Z=1125

t=1.125

et TSI & o1 7o JTgant At ATeT AT (AT H) 25 & a9r& g AT Agl, |
S= % o7 U= giehed= T Ty a1 Srdar g | 78 A9 g & S H AW
AT ATEHT T THTY HTF (A= 8 & | 36 JTZhi il ATT=SAT AT ST ;

3T IAT AP AT 29 (307 ST g e afasd AT g 23 597 2
i 201N ) vl e > R 1 )
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Options :
Z=0.1875
92862726281.
t=0.1875
Z=1125
t=1.125

Following are the number of sold units of 15 products at a store :
12, 14, 15, 18, 18, 21, 21, 31, 32, 46, 53, 56, 57, 58, 59.

What is the sum of the median and the mode ?

52

64

50
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U A1 9 15 Teq3l 0 =wT i1 T2 THEAT Tl G&IT Hefoiad ¢

12, 14, 15, 18, 19, 21, 21, 31, 32, 46, 33, 36, 37, 38, 39.

ATTETHT &A% T T TRTHA AT ZHIT 2
92
64
50
o1
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IfF’{A}-% P(B°) = 1—1 and P(A U B) = —,find P(A N B).
15
16
1
8
1
1
11
16
aﬁP(A)—Z P(B°) = aﬁ'{P(AUB) —EIE'P(AHB)EF[HW
HoT |

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

15

92862726289.

If 2 is subtracted from each of the values 10, 12, 14, 16 and 18, then new standard
deviation

will be increased 2 times

will be increased /2 times
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92862726295 will be decreased 2 times

will remain unchanged

i< g1 10, 12, 14, 16 UH 18 H F To4= HIH | 2 HZTAT |41 g, T 71
qTA= A= g ars == 7

2 [T AT ZAT ST
/2 O FET g g
2 T[OTT 52T gAT 2RI

qufafa gom
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You have been given a Bi-variate data set with the following calculations :
Tx = 55, IX = 339, Ly = 75, £y’ = 599, Exy = 449 and n = 10.

The covariance between x and y is given by

3.65

— 40801

graaT fRefertaa gt areT 31 =90 F7 AtweT aqgy Faraan g
Sx = 55, ¥x = 339, Sy = 75, Ty" = 599, Sxy = 449 7 n = 10.

79 X AR Y & &= Jg-99700 g

.Q.I
ap
U
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92862726298.

— 40801

The data taken from the “Open Government Data Platform (OGDP) India” will be
considered as

Primary data
Secondary data
Hypothetical data

Empirical data
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Correct Marks : 1 Wrong Marks : 0

“TF AT AEHET e hid (OGDP) AT | ot AT HTHeT Fgaral ¢

TTATHF ATFHET
TT0T ATFST
T TS AHST

FrqataT AT

Suppose a population contains 6 books of statistics and 4 are selected at random withs
replacement, then number of all possible samples will be

21

35

15
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92862726308. 1208

HIH AT T GHE H 6 Aiieaehi =l (Hdrd g A< 4 fhare =T aiaemys
ATE=IAT AT ST g, T oot v giazer gir

21
35
15

1296

The efficiency of the estimator of population mean for SRSWOR is that fo
SRSWR.
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92862726309. less than
more than

two times

equal to

SRSWOR 7 form #\{® |12 & arsheran it TL47 2ra1 2 SRSWR &
|
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Question Number : 39 Question Id : 9286276766 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

The sampling procedure in which the population of a city is first divided into homogene
blocks and then a random sample is drawn from each block is called

probability sampling
simple random sampling
stratified random sampling

cluster sampling

ag TTa=a AT {99 U 987 it 6 i Tgo 96y 99z 1 f49=
T ST g 97 57 v ae § 1 argf=a vt 97 ST g, e

P ELIRIGEE LI
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92862726314.

T AT = TTa=2

=g Tia=a+

In case of positive skewed distribution, the extreme values lie in the

left tail
right tail
middle

anywhere
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HATeR e 27 % o, =99 979 90 SE1 g
ATy fae
0 B H
=4

i o

If the estimated value of an item is 80 and its actual value is 70, the relative error is

-0.125
0.125

0.10
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92862726324, 0.20

7tz oY 35 7 AgETa goq 80 T 3T THHT T4 o7 70 g, T

- 0.125
0.125
0.10

- 0.20

In a large sample test for population mean, if level of significance is decreased, then th
new critical value will

hhhhhhh
L= == = = ==
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92862726326. InGIERse

remain unchanged

be the population mean

TS FHIY /LT F g Tiael T § af2 ardar &< 9T St g, @

AT T~ A9

TaAT

T

qel TTA

aHTE qTET g
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Question Number : 43 Question Id : 9286276770 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

If a constant 5 is subtracted from each of the values of X and Y, the regression coeffici
are

reduced by 5

of their original values

| =

increased by 5

not changed

Iis X AT Y & Io4% A9 § § F=F< {19 5 FT F2GT S04T1 2, 76 FHEAI0
RIIER

59E W18
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1
II‘JT"JFHWWE RIS

92862726330.

59E STATE

afafia w8t g

A patient suffering from high systolic blood pressure visits a doctor. Suppose the docto
formulates the hypotheses as

Ho = The patient is a Blood Pressure patient,
H1 = The patient is not a Blood Pressure patient.

If the doctor rejects Hg when the patient is actually a Blood Pressure patient, then the
doctor commits

Type-| error

Type-Ill error
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Both Type-l and Type-Il errors
92862726335,

Neither Type-Il nor Type-Il errors

U g eettars Thara | e TrfT =i & o §ar g @ 9
aArtoTe f=rfehcash TiRReq Tl T THHLT 7 TH1L F2dT1 g

Ho = 71T 3g w=h=10 & fifgq 2,

Hqy = 7001 3g Tohama F fifgq 7et ¢ |

Tis e Ho T 7o F7ar g STats Tl aedias &9 ¥ 35 A1
difed g 9« s & s it Jle F=ar g ?

-l T
geT-1l e
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T TR ST T 2 Te-1| 3

Non-sampling errors can be reduced by
non-probability sampling
probability sampling
decreasing sample size

increasing sample size

www.FirstRanker.com
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o= AT 1 1 FHIAT (AT ST T 8 ?

. e —
Alldenddd Aladdqa ol

ITIhaT ITa=aT 19T

Tl ATHTT 7 FH Fea

gia=el ATHTT T TETHT

If X follows the Poisson distribution with parameter 4, then its variance is

16
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TR X, = 4 FTA TATHT S2 A0 ATHL0T F2AT g, T ZHHT THLT S

16

If X1, X2, ..., Xn IS @ random sample from N(}, r:rz), M unknown, then which of the followin
distribution will be involved in testing of g ?

;.{2

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

92862726346. F

T x1, X2, ..., Xn THTHT G900 N(y, 0°), p 719 £, § & 05 T3
SR &, T 0 F THA § MEtorted § F FA-A7 de ArEArrd g ?

}:2
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Suppose a finite population contains 6 items and 2 are selected at random with
replacement, then the number of all possible samples will be

15
36
10

21

T ST 9 a 92 F 6 7= ¢ A 37 7= JTdeAT9T % A5=99T g1 ]
T, I8 a9l 91T argt=g® Aiaeer fit JedT gt

15

36

10
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Sum of squares of the deviations is minimum when deviations are taken from

mean
median
mode

Zero

== % AT A1 ARTHA 2AAH BT STt (A=l (ATl St

HTET
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gD

e

Which one of the following statements regarding standard error is true ?
It is always one
It is always zero
It is always negative

It is always non-negative
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AT AT ¥ wae & e § § -1 0 a6 22
Tg AT L B g

TR T FAL T
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Question Number : 51 Question Id : 9286276778 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

A random sample of size one is taken from a population with pdf f(x, 8) = Be™:x>0a
used totest Hp: 8= 1 against H{: 8= 2. If x 2 1 is the critical region, then the value of

2
; oy
E—z

; Yo

JTRIFAT S T f(x, 8) = Be ;x> 0 ATAT THIS F TF ATHIT FT
AE=a Tiaser T STar g T =07 97 ST Ho : 6 = 1 &1 a9rem
Hi:e=2%RAsgyaaad g | TR FfAF aax =212, TABLFHT &
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e
92862726361.
ey
1-e
=
e
<
1-e

Let x1, x2, x3 and x4 be a random sample of size 4 from N(p, 02} and

T=Kl(x1- x2)2 + (X3 - K4)2] is an unbiased estimate of UE, then the value of K is

N =
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92862726367.

qTT FerT T3 x4, x2, x3 3T x4 I ATHTT HT TF A5 =05 TTa397 N, «
F R E 1 AR T = K[(xq = x2)° + (X3 — xa)°], 0° FT TF qATHAT
ArFAE g, a1 KFTHIT 8

PN
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n

Let x1, X2,..., Xy be a random sample taken from Bin (1,0). If T = zxi , then
| =1

T(T - 1)
nin — 1)

an unbiased estimator of

48

8°+08
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H‘FITﬁ?m X2,..., Xn T& A5 =g Ira29T Bin(1, 6) & ferar = g 1| 9=

T= zx a‘rTg:B PR O AT AT g 2
0
52
46
6° +6

If the probability density function of X is
fix) =2 x>0

then V(X) is
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1
2
1
4
4
Itz X T ITAHAT I9F T

f(x) = 2 x>0

&L ATVX) &

AW
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PN

If the moment generating function of X is (1 —t)_1 what will be the variance of X ?
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X X FT AT STF T (1 — 1) &Y, AT X FT T FAT ST 2

In a 2°-factorial experiment with r blocks, the degrees of freedom for error is

r—1
ir+ 1

ir -1
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T(r=1)
92862726384.

r FUET ATOr T 2 -AE SR ATANT §, qfe Y =y wite gnn
r—1
r+1

r=1

7(r-1)

In an experiment, P(A) = 0.6, P(B) = 0.2 and P(A|B) = 0.3. Then P(B|A) equa

0.4
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0.8

0.1

et gTRT W, P(A) = 0.6, P(B) = 0.2 siiw P(A|B) = 0.3 g | A=
CEA L R

0.4
0.6

0.8

0.1
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Correct Marks : 1 Wrong Marks : 0

The probability mass function of a random variable X is

1
S 12,0
Plx=x) = 2*

0 otherwise

The probability that X is an odd number is

w| M

B

=
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TS A= T X T TAHAT F2TH T

1
o= 2 O
P(X=x) = { 2%

0 A-qAqT

g | X F T TAUH AT 24 0 G g
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For a discrete random variable X with pmf fx (x) and ecmf Fy (x), which of the following
statements is/are correct ?

1. Fx (x) = P(X £ x)

2. . Fx (x) = fx (x)

3.Pl@a=sX=b)=Fx(b)-Fx(a)
Only 1
Only 1 and 2
Only 1 and 3

All1,2and 3
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ot e aa Argi=ae 97 X & Torg fSrasrT T =749 el fy (x) 3
cmf Fx (x) 2, i@ a9 § § FHIT-97 FJ9 T gEIT 2

1. Fx (x) = P(X < X)

2. < Fy () = fx ()

3. P(a<X <b) = Fy (b) - Fx (a)
St 1
St 1 e 2
ST 1 4 3

adt 1, 2 T 3
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Read the following statements and choose the correct answer.

1. The probability generating function Py (t) exists only for discrete random
variables X.

2. The moment generating function M (t) satisfies the condition Mcx (t) = Mx (ct),
where c is a constant.

Only statement 1 is correct.
Only statement 2 is correct.

Both statements 1 and 2 are correct.

Both statements 1 and 2 are incorrect.
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% T AT 92T A7 TEr ITL HT AT A0

; TTEAT STH® Fq Py (1) 9 s69dd T3 =0 =3¢ X & forg Femme
LA

FATIOT S T My (t), Mex (1) = My (ct), T2t ¢ T& =7 g, Fil 69

FLATE |

2.

FAA HIT 1 Tl 2 |
FAT FAT 2 TEI 2 |
FAT 1T 2 F1 HGl g |

FAT 1 T 2 T AT B |

For a non-negative random variable X, which of the following statements is correct ?

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

92862726401.

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

92862726403.

A 90% confidence interval for population mean is calculated to be [5.6, 7.5]. If the
confidence level is increased from 90% to 95%, the confidence interval will

become narrower
remain the same
become wider

double in size
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au e q1e7 * form 90% fAsarerar-da<re 97 [5.6, 7.5] aivawiaa &7 1=
T3 FHAsameTar &7 #1 90% T 95% F< (=47 F17, 97 4T da<a

SITU BT STUATT

T AT FIAT 2T ST

In large sample with simple random sampling, the ratio estimator has smaller variance
the estimator@ = 5'} if correlation between x; and y; is

1 evly)
T2 covix)
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1 cvix)

T2 evly)
92862726410.

1 cvix)
2 ofy)

1 cv(x)
2 evly)

qTA ATS =g TTa=aaa GIT FFHa g TTa2et § FqaTa ATHeA s 7 T
J = § T T g &, w4 X A7y, F wew wgaeg Eem

_ 1 evly)
T2 covix)

1 cvix)
"2 covly)
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1 cvix)

{ — —————
2 cv(y)
92862726411,

1 cv(x)
2 evly)

In a 2°factorial experiment with 5 replicates, the sum of squares for the effect A in AN
table is
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[A]?

40
92862726416.

5 QAT TRAT AT UF 2 -agI TR ST &, e A (ANOVA)
ATTeTaRT & TATT A FT J90 T TETRA 2 HTT

[AP
40
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Question Number : 65 Question Id : 9286276792 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

When does multicollinearity occur in a multiple regression analysis ?
When dependent variables are highly correlated
When independent variables are minimally correlated
When independent variables are highly correlated

When independent variables have no correlation

g THTAIU (SO0 | Tg-HL@dr F gl g ?

ST ATTAT F< AATEH AgHe 49 2id &

ST A AL Agd FH AgHai8d gid 2
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ST T AL AA T AgHa tad gid g

92862726419.

SIS T A4 T Al AgHad Agl aldl g

The 99% confidence interval for Poisson parameter 8 based on a large sample of size
is

|
H
N
h
Qo
.
3|

S5
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Question Number : 66 Question Id : 9286276793 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

TATAT ded % e 0 % o1 Fgq AT 100 F gfa=er 97 araniia 99%

. 4
%k 1.961—%
X+ 1.96 %
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If X is a continuous random variable with mean 3 and variance 4, then for any positive

1
number A, P[|X = 3| 2 2A] 5}(—2 is known as

Holder’s Inequality
Chebychev's Inequality
Jensen's Inequality

Markov's Inequality

afz X U 99 A5 =gH T o=t q7e7 3 97 T30 4 2, 99 A1 497

: 1
e A & g P[|IX — 3| = 2A] <2 ST ST =

glos T AAHAT
<
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ST A9EAT
02862726427.

qTea e Aq9dT

If X is a standard normal variate and Y is an independent Chi-square variate with

X 12
X

has the distribution

12 degrees of freedom, then the statistic U =

F(1,12)

t12
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Correct Marks : 1 Wrong Marks : 0
aﬁxwwmﬁ:ﬁmgamfﬁmﬁaﬁ-ﬁﬁm 12 ¥9T4
A ¥ AT 2, A wEeT U = X“’f T #2 AT

If f(x) = Ae ", 0 £ x <= is p.d.f. of arandom variable, then value of A is
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AT f(x) =Ae ,0< X <o, THARZF L FTpdf. 8, TTAFTAEE
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A unigue UMVUE is obtained by using

Rao-Blackwell Theorem
Factorization Theorem

Neyman-Pearson Lemma

Lehmann-Scheffé Theorem

TF Afgatd UMVUE 550 § & 38 wor &7 918 T siran g 2

TA-SAhaT THT

[OTEUET THT
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The error sum of square in RBD as compared to CRD using the same material is

Less
More

Equal

Not comparable

HHTT T4 FT ITAN F7d g0 RBD H Ffes=T T3 CRD #1 gaAT1 H

g
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CEACES
TAATHF Al

In a LSD, the degrees of freedom associated to error component is 12, then the numbe
treatments is
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= LSD #, e T2+ F o @ae=g e 12 g, 99 =78 SUARl it 967
Rk

The mean estimator of a systematic sample is more precise than the mean estimator o
simple random sample if

2 2
S-::SW

2 2
S:=-SW
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NS? < §2
92862726451.

2 — a2
NS? = 82

FATETT TTa=el FT qTET ATHcA® A7 ATF=gF A9 % qATET AR o
Ffers af¥ g grar g Stafs

S2 < va
S22 > va
NS? < 82

NS? = §2
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Correct Marks : 1 Wrong Marks : 0

For any two events A and B, select the correct result.
P(A|B) + P(A°|B) = 1
P(A|B) + P(A"|B") = 1
P(A|B) + P(A|B") = 1

P(A"|B) + P(A|B") = 1

gl 21 FEdTr A &7 B & forw, agt oo Fi=0 |
P(A|B) + P(A°|B) = 1

P(A|B) + P(A°B®) = 1
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P(A|B) + P(A|B%) = 1

92862726455.

P(A°|B) + P(A|B®) = 1

Regularity conditions of Cramer-Rao inequality are related to
integrability of functions
differentiability of functions
both integrability of functions and differentiability of functions

neither integrability of functions nor differentiability of functions

FHC-T FATHET & [aieaaar giaasr, e aeaiead g
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Tl T THTRAATITT O

92862726457.

FATL l ATHATTIIT T

FAAT 0 THTHRAATIAT o 3% BT 1l ATHAA AT T

T AT Tl 6 FHTHRASTAAT H AT T 51 FAAT 01 FATHAIAT &

For testing Ho : p1 = W2, the value of the statistic |x — \}|/[ﬂ ni + ni] lies betwee
1 2

1.96 and 2.58 then Hp is
rejected at 5% level of significance
not rejected at 5% level of significance

rejected at 1% level of significance
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not rejected at both 1% and 5% levels of significance
92862726464

Ho : M4 = P2 &1 T80T F739 & T, 99 |x —ﬂ/{cr L l]'
1

n n,

HT9 1.96 &7 2.58 & == | AqT1 2, T Ho FT
5% FTAFHAT &q7 T% (20 (971 a1 3
5% ATAFHAT Fq7 T% [HH0r Al (T Sar @
1% FTFaT =97 92 e g smar 2

1% ST 5% AT ATUFHAT 20 92 121 921 a1 St g

4 te-sizeinYAald et " ate R thclistri Lovith me

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Options :

2
AL

m+ n
02862726465.

2n
m+ n

3o

2mn

m+ n

2
g

m+n

7fT AT 77 TOAW H, g AL FT Tfa2er forar siar g, 99 97 R 990
= F dted g, orast qreq grm

2m

+ 1
m+ n
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2n
m+n

3

92862726466.

2mn

m + n

2mn

m+ n

Which of the following is a contrast ?

3T1+T2-3T3+ T4

T1+3T2-3T3+ T4

-3T1+T2-T3 +3T1

Ti1+T2=-T3-Ta

www.FirstRanker.com
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Question Number : 78 Question Id : 9286276805 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Hferiad § & FI-87 2ATqn g ?
3T1+T2-3T3+ T4
T1+3T2-3T3+ Ty
—3T1+T2-T3+3T4

T4+ To=-T3—-T4

The mean and variance of a binomial distribution are 3 and I} respectively. The nu

of trials is

10
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92862726474. 2

15

. 10 <1 ;s
E‘WW%HT%H@TWWQT:?@T?QIWH??W%WH E

10

20

15
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Variance of ;'151 under equal, proportional and optimum allocation satisfy which one of ti

following ?
Veq (x4) £ Vprop (x,) = Vopt (x,)
Vprop (x,) 2 Vopt (x,,)  Veq (x,,)
Veq (x4) 2 Vprop (x,) = Vopt (x,,)

Veq ( Et] - v{)pt ( St] = mep (xm]

AT, AT AT TTAH a0 & deaild, x , F7 9920 Aatatag §
T agE Farg ?

Veq (ist) = Vprcp ()_(51) = VOPt (;‘St)
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Vprop (X) 2 Vopt (x,) = Veq (xg)
92862726478.

Veq (X&) = Vprop (x4) = Vopt (x,)

Veq (;(51) 2 Vopt (ist) z VPFUP (’_(st)

In a BIBD with parameters v, r, b, kand A, if the b-blocks can be divided into r-groups
set of b/r blocks (each b/r being an integer), then it is called

resolvable BIBD

degenerated BIBD

efficient BIBD

consistent BIBD
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Correct Marks : 1 Wrong Marks : 0

gT=el v, r, b, k ST A % #@79 U BIBD H, T2 b-=UST FT b/r GO
& r-A9gl H AT 5T ST 70dT g, ad T FgaTdl g (T7 T

qoTie )

=&T BIBD

adq BIBD

While adopting two-stage sampling scheme, if n = N, then two-stage sampling scheme
converts to

Stratified Random Sampling
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Two-Stage Cluster Sampling
92862726486.

Cluster Sampling

Systematic Sampling

T2-=201 Iia=== TTST T ATATd F99, T2 n = N I, T T3-=707 Jia=z

AT AT =g Tia=a §

f2-=707 =g qfa=a9 §

= Tid=a §

A q Ia=a9 §
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Question Number : 83 Question Id : 9286276810 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

In multi-phase sampling scheme, the sampling units are not
Same in all phases
Different in all phases
Smaller in size in succeeding phases

Larger in preceding phases

Ag-F0T ATA=4 AT H, TIA=AT TH1AT qglaldl g ?

Tt IO § THT

T T H T

0 e § == B M= 11 2 3 =

aad | Eall IR | | LIk} 1 1 1 ! | LS
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Tl ATl FLON H AHa<

92862726492.

Simple random sampling and cluster sampling becomes equivalent if

M =1
M=2
n=N
M=N

LA AT =g Td=a ST [=g TTA=a9 THTHTE gl 1d g, A=

M =1
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=2
02862726494,
n=N
M=N

Out of three types of spark plugs A, B and C, 6% of Type A, 4% of Type B and 2% of T
C spark plugs are defective. A spark plug is selected at random from a lot of spark pluc
containing S0 plugs of Type A, 30 plugs of Type B and 20 plugs of Type C. The selecte
plug is found to be defective. What is the probability that the selected plug was of Type

15

23

23
100

13
10000
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8

92862726500. 22

ST T T A, B & C § &, A T ¥ 6%, B T % 4% T C T
2% T ST FTET00 2 | T T SAdT a0l ST Tl a0l @40 | oraH 50 T
A 1T, 30 T B T &IT 20 W7 C T2 g, ATS=S AT A7 SITar g |
AT AT ATeqor a2 | o 0 ST & A T % gie ol STadT 47 ¢

?

15
23

28
100

13
10000
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92862726500.

Linear programming theory states that the optimal solution to any problem will lie at
the origin
a corner point of the feasible region
the highest point of the feasible region

the lowest point in the feasible region

T TR gt aqrar g & =T a9=1 %7 3299 9911, 959 4 g

qa-faeg
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THIT & F qre1 foeg

92862726502.

—

T &3 T 99 &A1 favg

AT &= T qed A =T faeg

The expected waiting time in the system is 10 minutes, and the expected waiting time |
queue is 5 minutes, then the service rate is

2,
10
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Question Number : 87 Question Id : 9286276814 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

U [T | AqHTAT I rer 10 [\e AT 9i=s § Jqaria Taer 5
5 fAee g, a9 7491 I M

2
10

For M/IM/1 queueing system, the expected number of customers (L) in the system is

o)

L=(1 - p)
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{1 —
" (1 - p)
P
92862726510.
L=(1 - p)
1
L=1-
1-p

M/M/1 TR SoTTert = for, Samer & sETeg aTgat &t 9T (L) grar g

P
i
oo (1 - p)

p
L=(1 - p)
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92862726512.

In certain situation, the customers arrive from one gate and depart from another gate.
situation of incoming and outgoing can be stated as

The pure death process

The pure birth process

The birth-death process

Neither birth nor death process

=T Mg o a4, AEF UF g T AT 2 AL TG A S|TT 2 | &l
T ST 6T T AT FT Figl ST AHAT 2
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95 T TR
92862726513.

Az ST7H THH

STeH-HZT 0 H

7 T STeH T g F207 I

If departure and arrivals in queueing system are normally considered M/M/1, then the
arrival and departure distribution are both

Poisson process
Binomial

General

Normal
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Question Number : 90 Question Id : 9286276817 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

T i<k TUMTAT F AT AT ST ATHET: MM/ AT ST 8, T8 AT Al
STET A1 AT e g[IT

ST T H

IV ES

Stochastic process is

Random in nature

A function of time
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90862726523, Random in nature and a function of time

Neither random in nature nor a function of time

THATST THH 2 8

AT F AR g%

T FT FAT

G § AT =g AT THT FT FeAw

T AT T § A= AT T g1 G897 FT Herd

Gaussian processis a
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Wide sense stationary process
92862726525.
Strict sense stationary process

Wide and strict sense stationary process

Neither wide nor strict sense stationary process

MIHIT THA g

g =er =t aFe

T (3Fd:) JTe FITAT T

Aeqa UA g a4 ST T

T a1 AT & 7 21 32 T ST R
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Question Number : 93 Question Id : 9286276820 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

The first factor in a solution has an eigenvalue of 2.85. The total of all the eigenvalues |
What proportion of variance is accounted for by the first factor ?

40.71%
24.56%
28.50%

99.29%

T 87 & Tger F< FT ATHAATO AT 2.85 8 | FdT ATHrea o AT =
AT 7 g | I8 @ F g1 ITH THI07 KT AT AT ZIRT 2

40.71%
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24 56%
92862726530

28.50%

99.29%

If three factors F1, F2 and F3 each are at two levels, it constitutes
3* factorial experiment

2° factorial experiment
2 x 3 factorial experiment

RBD with 3 treatments and 2 replications
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T q e Fq, Fo AT F3 W0 27 3971 (F920) § 8, 99 98 ATIT g
3% FELTOT
2° FITor WA
2 x 3 FHEATOMT AN

RBD 3 IT=TIT T4T 2 Ifa=hfadr & |

The matrix describing the Markov chain is called the

Transition matrix

|dentity matrix

Eigen matrix
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Singular matrix
92862726540,

qThid @AT FT (20T TG qTAT AT=Ig FgeATdl g
HHAT AT
THHT A2

ATHTLATI AT

FAHIAT AT=18

In a small interval of time At of a birth-death process, the number of occurred births/de
is/are
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92862726541.

Oor1

= STeH-H20T T5H 6 T Fle TH1T Aqra At |, g9 T STA/AT0T HiT T7

AR

0=T1
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Question Number : 97 Question Id : 9286276824 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

If there are 3 jobs to be performed, one at a time on each of the 2 machines, then the
possible number of sequences will be

36

30

af= 27 7l J F 4% U< UF 999 § U, 3 HTH 9599 34 J0d 2, 99 3
T HEATIE T HeaT gt

36

30
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92862726547.

Two-stage sampling design is more efficient than single stage sampling if the intra-clas
correlation between units in the first stage is

negative
positive

Zero

one

f2-=oft yia=ge ATT=FeudT, UH-T0l Tid=a7 | SATST T4 gHiT A2 I8
e ) I 2 e 11 M 2 o R e e ) R PR R 2 A s
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Options :

92862726549.

EdTcHS

A

The separate regression estimate is more efficient than the combined regression estim
if the

regression line of Y on X is approximately linear and the regression coeffici
much among the strata.

regression line of Y on X is not linear and the regression coefficients do no
among the strata.
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regression line of Y on X is approximately linear and the regression coeffici

among the strata.
92862726555.

regression line of Y on X is not linear and the regression coefficients vary n
strata.

TF THTATO AR, THIHT FHOAAT Arher=h | SATST 287 v g A=

Y #1 X T FHTAI TGT MG TE T g AT THII07 [0, &

ST 9 981 21 2 |

Y T X 9T THTAII TGT TE T Agi g AT THTAA 070, T4
SATET 9 981 21d 2 |

Y 1 X 9T GHTAIT TGT FINAT TE T g AT THEAG0T 070, &
ST T g 2 |
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Y FT X 9% FHTSAOT TET TE T A1 g A T 00, TR
ST 9+ 2 2 |

92862726556.

Which one of the following statements distinguishes cluster sampling from stratified
sampling ?

Clusters are preferably heterogeneous whereas strata are taken as homog
possible.

Sample is not drawn from each stratum whereas sample of elementary uni
clusters.

Large size clusters are better whereas there is no such restriction for stratu

Clusters are preferably homogeneous whereas strata are taken as heterog
possible.
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e 9T § T FIF-97 FA9 =5 Td=A1 1 T Ta=a9 7 A
AT ?

=g ATEATT: TATHNT Zra g STt T% TFEFAad: THE o ST

Ted® T WAEer Agl (o0 dT S1aT g St =i | ° A0 2
fer=er foraT Srar 2 |

L ATHIT & [, A=) gld g Sa i &< & AHATT U< Hle AT T

= ATHATAT: THT 219 2 Fath =< qeqaq: FHaamr o o
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